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Pollution of Mathura Refinery and 
its effect on Taj

2643. SHRI PRATAP BHANU 
SHARMA : Will the Minister of 
EDUCATION AND SOCIAL WEL-
FARE be pleased to state :

(a) whether Government have 
studied the pollution level of 
Mathura Refinery ;
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(b) what will be its effect over 
National Monument Taj Mahal;

(c) whether Government have 
referred the matter to National En-
vironmental Research Institute for 
their expert opinion; and

(d) if so, what is their report ?

THE MINISTER OF STATE OF 
THE MINISTRIES OF EDUCA-
TION & SOCIAL WELFARE 
( SHRIMATI SHEILA KAUL ) :
(a) and (b). The pollution level and 
its effect on the Taj Mahal due to 
the Mathura Refinery will be studied 
when the Refinery is commissioned.

(c) Yes, Sir.

(d) According to NEERI report:—

(i) The level of sulphur dioxide 
in the vicinity of Taj Mahal is 
higher than that at Agra Fort, 
Itimad-ud-Daula and Sikandra.

(ii) The existing pollution in the 
vicinity of Taj is due to the 
prevailing pattern of wind,

(iii) The source of emission needs 
to be identified,

(iv) The level of sulphur dioxide 
and soot coming from various 
sources should be reduced 
without affecting the industrial 
activities in the region.•-V

Rohtas Industries’ dues to Railways

2644. PROF. K .K . TEWARI : 
Will the Minister of RAILWAYS be 
pleased to state :

(a) whether the Rohtas Industrie^ 
in Bihar owe a huge amount to the 
Indian Railways as freight charges ; 
and
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(b) if so, what steps have bcci 

taken to recover it from thtm  7




